
www.alko.com.au LITALKOAUS00001

MECHANICAL DISC BRAKE SERVICE PARTS - PRE 2016
Light Duty Caliper Spares

1 2 3 4

390024 
Mounting bolt for mechanical 
caliper 7/16” UNF x 2 1/4” HT zinc             

190054 
Mounting  washer 7/16” external 
shake proof for mechanical 
caliper  

190056 
Mounting  washer  flat  
7/16” x 7/8” zinc for mechanical 
caliper

349100 
Set of 4  Disc pads to suit 
Mechanical caliper.
323128 Single pad 

323121
Tension spring for mechanical 
caliper

323129 
Set of 2  Disc pads to suit 
Mechanical caliper - skin pack

5 6 7

1 2 3

5

7

8

323126
Inner bush for mechanical caliper 

341081 
Slide Pin Kit (Skin pack)

323125
Outer bush for mechanical caliper 

5

4 6

323124
M10 Adjuster Bolt

323122
M10 Adjuster Nut

323111
Straight Lever / Forward pull

9 10 11

910 11

56

8



www.alko.com.au LITALKOAUS00001

MECHANICAL DISC BRAKE SERVICE PARTS - PRE 2016
Light Duty Caliper Spares

1 2 3 4

390024 
Mounting bolt for mechanical 
caliper 7/16” UNF x 2 1/4” HT zinc             

190054 
Mounting  washer 7/16” external 
shake proof for mechanical 
caliper  

190056 
Mounting  washer  flat  
7/16” x 7/8” zinc for mechanical 
caliper

349100 
Set of 4  Disc pads to suit 
Mechanical caliper.
323128 Single pad 

323121
Tension spring for mechanical 
caliper

323129 
Set of 2  Disc pads to suit 
Mechanical caliper - skin pack

5 6 7

1 2 3

5

7

8

323126
Inner bush for mechanical caliper 

341081 
Slide Pin Kit (Skin pack)

323125
Outer bush for mechanical caliper 

5

4 6

323124
M10 Adjuster Bolt

323122
M10 Adjuster Nut

323111
Straight Lever / Forward pull

9 10 11

910 11

56

8

MECHANICAL DISC BRAKE SERVICE PARTS - POST 2016
Light Duty Caliper Spares

1 2 3

390024 
Mounting bolt for mechanical 
caliper 7/16” UNF x 2 1/4” HT zinc             

190054 
Mounting  washer 7/16” external 
shake proof for mechanical 
caliper  

190056 
Mounting  washer  flat  
7/16” x 7/8” zinc for mechanical 
caliper

323316
Anti Rattle Clip

323317
Return Spring

65 7

6

9

8

323125
Outer bush for mechanical caliper 

10

4

1 2 3 7

323126
Brake mechanical caliper  
inner bush

323124
M10 Adjuster Bolt

323122
M10 Adjuster Nut

323311
Straight Lever / 
Forward pull

9 10 11

9

57

4

323315 
Disc pad to suit mechanical 
caliper - 2 bolt

8

11

5

6

9

10

4

1 2 3 7

9

8

11

5


